Ooodoooooooooor

00 0oO0f(oooooo)

ERN

goboobooboobobooboobobobooboobboobDoobL. oobooboo
gooooo,0oobobooboooboboboo0. obobobobo,obooboboobg
gooooo. boob,00b00ob0ooooboo,000boboooboboobobOooboog
go.

1 00

gbooboogoo,boobogobooobooobbuoobbooboo.goooba,

o 00 (0DODDODODODOOOO)OOO,
o 00 (0ODOOOOOOOOO)OOO,
o DOUOODLDOODOO

ooC0O.0000,0000000,00000000O0O00000 “O0DDOOO0”00DOoO0O0OO.
gboboobooob,

o 00000 (DO00OODOODOOOODOODODOD),
o 00000 (DOODODOOODOOD)

goooobogooboooon.

00000 (0O00O00O0D)00000000000O0O0DO. DO0OU0DOODOOO,0000
0000000000000 (b0D0D00O0DDO00DO0O0DO0ODOD). 20000000000
O00ooooooooooooD “Ob0”00000oOoO0ooOo,00oooo,2000000
gooboooobo,boobbooobboo. boobb,booobboooboooo,bo
oo,000000000000000,000.000,000,0000000 (DDOOODO
00000)000000000O0OO00O0OO0OO,0000000.

goobooooobbooooobbobo,0b0o000obboo0ooo,00bbooooobobon
O00. 00000,000000000 (D0DDO0)0000,0000000000000DO.
goo,0ogbooboobooobooooboooboobbooboooboo,0oboboo,0bo

*200900000 COOODOOOOO0OO AOODOO
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googooobooboobobooboobbooboobbooboo.obboobooooba,
gboboggbogoboobobuoobobo.oobboobobo,obboo.obboobb,

goboobb =000000 +00

goo.oboobo,boo0obooobobooboooboooboobon.

oo, bbb boOD.
oooooboooboooboo,

000000 =00000b000o0boobooo

oo0b.0oo0obo Mooooooooooobo,20 ppgeMOOODOO,0D00DO00
ooboobooooo:

.p0¢0O00 MODOOOOOOO ¢:R—MOODOO,
.0000000o d(t)eTyMOooo,
.0000000000000,00000000 |J@¢)|000o0oo,

. |¢(t)] 000000000 000 (p00 ¢OO00000)000000,
.p0¢O0000,“00000 ¢000000700000.

T = W N =

00odoO0o0o0o00O0ooOOoDOOo0OoO0oOOooOOooDOobO. MOOOOODOOOODOOOOOO
g, gobdgoboooobob,booobboooobobooobbooob.obob,booOooboon
0D000000. 00,0000000, 000000 RRO0O0D0O0O000000000000
OO0”000000000,000000000A0.

goo,0jdb0bo0obobo0obooobog:

o 00 000;000000 (0)(0), 0000000 (1991, 1993).

o00 00;00000 (00000DO00), 0000 (2004).

o J.A. Thorpe; 00 0ODOO0OOD (D0ODO0OD,000,000 O), Springer (2006).
o000 00,00 000;00000—000000000O0O,000 (2002).

2 0O0Od

0000,00 RPO0D0O0O0O0O00000D0O00000O0OD, 0000000000 0OO.

21 0O0O0O0OO

00 2.1. /0 ROOOOOOO. 00 ¢:I—-R?20 0000000000000 00,000
00000: (1) eO C=-0, (2)Vtel, d(t)#(0,0).

000000 ¢/)0 O0OD0O0ODO0OD OD0OOD. 00 ()0 ¢t0000 OD00D0O0ODO OOO.
00000000000000 ¢()0,00000000000,D0D00D000D000D0OO.



0 2.2. 0000000000000000000:
(1) O ¢:R — R?: ¢+ (cos(t),sin(t)),
(2) 00 ¢c:R—R2:t—ta+b (000 @+#0).
(3) C>~-00 fAR—-RODOO c:R—-RE:t (¢t f(1)).

22 00OO0ODO

00 23. 0000000000000 ¢:I—-R20000,000000000 k.:I—RO
googo,0b0boob oo bod:

Ke(t) := det(c(t), (1)) /| ()?.

0000 |d(t)]#000000,000000 0000000. 000, ¢(t) = (x(t),y(t) 00
0000000000000000000000:

/ 1!
det(c’, ") = det [ :1:/ x,, ] =2y’ — 2"y
y oy
0 2.4. 00 ¢(t) = (acos(t),bsin(t)) 0O OO,
ke(t) = ab/(a?sin® t 4 b2 cos? t)>/2.
000 e>b>00000,0000000000 (+a,0)000,0000000 (0,+b) 0
O0,000.0000,e=0b>0000000 «0000000,000 1/e00000O0O.

23 0DOO0O0OO0O:0000DODOO0ODOOO

ooooob,00boo0bo0oboobobo. oobbo,0bo0oboooobooboboon
goooooo,oobogoog.

00 2.5.¢c:] -R?000000000,¢: I’ -100000 C®-00000.00Vsel,
t(s)>000000000,cot: I’ -R200000000000000000.

0000000 t=t(s) 0 00D0OUDDO0OO0 O0D0. 0000000 0O0O0DO0OOOO0ODOOO
Ocot: I’ - R200000000000000000O0OOO.

00 2.6. 0000000000000000,0000,Vs e, ke(t(s)) = Keot(s).

24 00OOO0ODO: 000

goobooboooboobbo,obboobbooboobobooboboobooob.



00 2.7. 00000 ¢:1—R*0 000000000 00000,00000000: Vtel,
[¢(®)] = 1.

gooboobooobooboo,0bbo0oboooboboboobbo. bo,bboobboOon
gbooooboobbooboboooboon.

00 28.c: ] -R?2000000000.0000 ¢c0000000000O,00000000
000000000.0000,3t=t(s) (000000D0): cot0O00OOOOOOOO.

gbobooboooboobbuoobboobbo0o. obboobboobooon.

00 2.9. 000000000 ¢(t) = (z(t),y(t)) 0000, 0000 n(t) := (—y'(t),2'(t)) O
(0000)0000000 000,

000000000,00000000,00000 ¢(t)0000,00 100000000.
00 2.10. ¢: ] - R200000000000000,000000: Vtel, d(t) = ke(t)n(t).

00 |ke(t)| = |¢’(¢), 0000, 0000000000000000000000000000O
0.00000000000,00000000000000.

25 O0OOO0OO:0Ob0OOoOOO

000,0000000 n(t)=(—y(t),2/()) 0000000000000, 0000,000
000000,0000000000000000.000000,0000000000000
0o,

00 211. ¢: I »R2 000000000000, e(t):=¢(t)000. 0000000000
n'(t) = —ke(t)e(t).

0000,00000000000;C>00 v,w:I—-R20000,
(v(t), w(t))" = (V' (t), w(t)) + (v(t), w'(t)).

00O 210,211 00000 000OOODO OODO,00000000:
r 0 —Iic(t)
(en)(en)(/{c(t) . )

26 ODOOOO: 0000000
000,R?0000000000000000.

00 212. ¢1,62: 1 »R20000000000000. 0000 ;0 20 0000000
00000,0000000000000D0000,0000,00000000: 3¢ € S0O(2),
Jv e R? s.t. Vt € I, co(t) = ger(t) + v.



00000000000000000000000,00 00 000. 0000000, 00
SO(2)0 O(2)000000000.

00 2.13. 000000000 ¢,2: ] -—R200000000000000,000000,
0000,000000: ke, = Ky

0000000oo0oooooO,00000 -100Db0.

27 0OD0O0O0OD0:000000O0DO

gboo,gbbogbooobogboobbooboobobooboooobo.og,boob
gooboobooboboobobooboobo,booboboooo.

00 214 (000000000). 000 C*00 k:I—-ROO0O0O,xk000000000
goooobogbob,0ogb0boobboooboooboboooo.

gobooboboooooobbooo,gggbbobboooobbbboooobb. booooo
go,bo00o0ogogooog.

3 00O

0000,R®000000000000. 0000000000000000,0000000
goooobogooog.
31 00O00OoOoog

00 3.1. DO RP0000000.009p:D—R*0 0000000000000 O0O,0
Ooooooo: (1) p0 C>-0, (2) Y(u,v) € D, rank(Jp)(y,v) = 2.

000 (Jp)iuwy O Jacobi 00DO0. D000 py, p, 000000, Jp= (pu,p,) D00,

0 3.2. 0000000O00oOoooooon:
(1) 00 p:R2 - R3: (u,0) —ud+vb+c (000 @0 bOOODODO),
(2) C>~-00 f:RZ—-RO00O0 p:R%2 - R3: (u,v) — (u,v, f(u,v)).

00 3.3. ¢: I —>R2: ¢t (2(t),2(4) 0000000000000000, 2() >0 (Vtel)D
0000.0000,0000000 p:Rx/—R300000000000000:

cos(u) —sin(u) 0 x(v) cos(u)x(v)
p(u,v) = | sin(u) cos(u) 0 0 = | sin(u)z(v)
0 0 1 z(v) z(v)

ooo0oO0ooOooooo p(w,v), 00000000, (,-0000000)000 OOO.



0 34. 00000O0OODOO:

(1) 00 {(z,y,2) | 2? +y* =1},
(2) 00000 {(z,y,2) |22 +y*>+ 22 =1} \ {(0,0,£1)}
(3) 0DoDO

32 00000

00 3.5. 0000000000000 p:D—-R*0000,0000000 n(u,v)0 000
goobg ooo:

n(u,v) := pyu(u,v) X py(u, v)/|pu(u,v) X py(u,v)]|.

000 pyxpy 0,p, 0 p, 000000000. 0000000000, |pyxpel #0000
00.0000 [/=1000,000000000000 (n,p,) = {n,p,)=000000.

00 3.6. 0000000000000 p:D—R30O00O0,

(1) E = {pu,pu), F = (pu,p0), G := (py,p,) 0 00000 OOO,
(2) L := (pyu,n), M := (pyy,n), N :=(py,n) 0 00000 OOO,
(3) D000 A0 O0ODO 0OOD:

=(Fa) (5 V),

(4) K :=det(A)0 00000, H:=(1/2)tr(A)0 D000 000,
000000000000 E,F,GO0000000000,000000000000 (00).

00 3.7. 0000000000 ODODODOOODOOODOODODOOODOO. O00O a>0>0,
—m/2<v<7/2000:

cos(u) —sin(u) 0 acos(v) a cos(u) cos(v)
p(u,v) = | sin(u) cos(u) 0 0 = | asin(u)cos(v)
0 0 1 bsin(v) bsin(v)

33 0000000

0oo0o00,0000000 n(u,v) 000000000, D0D0O0OOOOOO,000000
googooog.

00 38. DO R™"ODOOOOOO.C*®-00 F:D—-R*"Ope D00 OO0 OOOOOOO:

1
(dF)p:Rm—ﬂR”:UH}iIr(l)E(F(p—I—tv)—F(p))



0000000000.0000,000000:
(dn)(uw) (1,0) = pu(u,v),  (dn)(u,0)(0,1) = pu(u,v).

000,0000 (dn)w., D0000000000000000000, Jacobi0OOODODO.

00 3.9. 00 (dn)uw 000, n(u,v) 00000,

0ooo0o0oooooooog, (n,ny=100000000 2(dn,n)=0,000. 00000
D,(dn)(u,v)DDDDDDDDDDDDDDDDDDD:

(dn)(u,v) :RQH(Rn(u,v))L:span{pu(u,v),pv(u,v)}.
O00d0o0oooooooo,00oo AooO0O.
00 3.10. —(dn) ) (e1,e2) = (Pu, o)A
O000,0000 AO0O,0000000 nO0OO0O0OOO. O0DODO0OOOO0 nOOOOO
goooobooo, 00000, bbb oo bbooooobboooooon
ogoooood.

34 000O0OOOOO: OO

00000000000000000 E,F,GO0,0000000000000.0000,0
0000000 ¢:D—-R3O000D0.

00 3.11. I = Fdu? + 2Fdudv+ Gdv?* 0 000000 000,
00000000000000000000,00000000.
0 3.12. 00 3.70000000000, 1= a?cos?(v)du? + (a?sin®(v) + b? cos? (v))dv?.

00000 E, F,GOOOOO DOO ROO C*-00000. 000000 IO0OOOO
0. 00000000000000000D0,dudv OO0O0O0O0DO0OOO0OOOOODOOOO. OO,
w,v 0000000000004,

00 3.18. du,dv: D — (R*)* 000000: peDOOODO,
(du), :R* = R: (2,y) — 2z, (dv),:R* =R: (2,y)— y.
D00 (R®)*0 R2O0ODODOOO0.

00 3.14. wy,wp € (R2)* 0 000000 0000000:

wiws REXRZ SR (X,Y) = (1/2) (w1 (X)we (Y) + w (V)ws (X)),



000000 wiw, 0,0000000000. 00000 RZxR?200 ROOO0O0O0O0O0
00000000000000 S3(R?)*000.00000,000000:

I, = Ep(du)i + 2Fp (du)p(dv)p + Gp(d’u)?) € S*(R?)*
00 3.15. 000000 I:D— S*R*)H*0,00000:0peDDODOOO,

Ip(X,Y):tX< Iﬁj: g )Y.

00 8.16. 0 pe DOOODO, L,(X,Y) = ((d),(X),(dp),(Y))DODOODO. 00,1, 0 RO
oooooooon.

0000 L,0,X, YO pOOOOoOoOOoOOoOO0OO0OO0OO o0000,0000 R300O0
(,)0OOOOO,000.0000000D000DOO00DOOD,00D00OO0DOO.

E F
O 3.17. 0O googood.
F G

0 3.18. 00U0O ADOOOOOOooOQg.
00000,A0000000000000,0000 I(AX,Y)=I(X,AY), 0000000
O0000.00000 ADDODODOODOODOO0. 0000 AODODOOO OOODO O0O0O.
3 U000b0Oooo:goboooogn
ooo000 L,M,NO,0000 AOJOO0OOO0OOoO0O0.
00 3.19. Il = Ldu? + 2Mdudv + Ndv? 0 000000 00O0.

O000000,0000000000,11:D— S?R?)*00000000. 0000000
0A:D—End(R?) 00000000.00000,000000000.

00 3.20. 0 pe DOODODO,IL(X,Y)=1,(4,X,Y).
00000000000, End(R?) = (R?)*@R?0 (R?)*®(R)* 000 1, 0000000

000,A4,01L,0000000000,0000000000.

36 D00O0O0: 0000000 DOO0O0OO
O00000000,00000000000000000000000000000.

00 3.21. 00000000 ¢: D —R¥O0D0O00,¢:D — DO C®-0000000,
det(JE),y #0 (Vp' e D)) 00D000. D000, poé: D —R*O000000000000,



000000000 ¢é: D —-D0O,000 0000000 000 0000 000.0000
0000 det(J¢), >0 (Vp e D)00D0D0O0O0 000000000 OODO.

00 3.22. 1 : D, > RPO00000000,¢: D, —» D, 00000000000. 00 ¢
0000000 E, 00000,00 g =¢10£ 0000000 E,00000.0000,0
peD, 0000,

E2 Fg El Fl
1 =1tJ JE)p,
o (2 5) cua(28) oo

det(J¢),
| det(JE),|’

L2 M2 Ll Ml
3 =0, 1(J JE)p.
(3) (M2 N, )p op -t é)p< M N )ﬂp)( E)p

o0 3.23. 000000000 0OOOOOOO. ObOobOOooOoooooooooog.

(2) (n2)p =o0p- (nl)g(p), ooooo0, o, =

379 00O000O:00b0D0o0
goooobooo,b0oo0obooboboobboobbooobooobooooo.

00 3.24. 1,9, : D - R3 000000000000, 0000 00 (000 000000
0)00000,00000000: 3g€ 03) (000 3¢ € SO3)), 3w € R3 s.t. Vp € D,

©a2(p) = g1 (p) + w.

ob 3.25. J00OO0OOoOO,0b0o0obo0obooob. boobo0oboobobobo,boboon
goog.

googo,0bboo,b0bo0oboo0oboobboobbooboooboboooo.

3 00O0O0OO0ODOO:0DbO0D0O0ODOOO

goooobobboooooooboobob,0bbobbbooo0ooDbbboooo,0o0oooo
0.00 ¢:D—-R30O00000000,000 DO OOOOOOIOD (D,)oOOOOO
gbobogoboogo.

00 3.26. V4, V, 0000000, ()1, () 00000000000. 0000,0000
fi () — (Va,(,)2) 0 (00D00D00D00)0D000 00000, 00000000:
VXY € Vi, (X, V)1 = (f(X), f(Y))2.

00 3.27. ¢, : Dy - R?, 9o : D, - RRO00DODODOOOODODODO. OODOO, 00
ooooo €:D; - D, 0 (000)0D0O00D0O0O0D0O0,00000000: Vp € Dy,
(df), : (R?,(11),) — (R%,(I,),) 00D O0O0DOOO0DDOO.

9



goooboooooooboooooobo, bbb obb boooob. boooooobob,
gbobogobogbobooboboobo,ggboooobog.

00 328 (00D00000D0). 00 ¢1:D1 - RO pp:Dy— REOOOODODO, O
000000000000,0000,00000 £€:D7— D, 0000 (Ky)p = (Ka2)ep)
(Vp € D1).

gooooo,0d0obo0oo00 nOO0ODOOOO IODOOODOO,00DOODbDOOO
oooooboooboo.oob,0ob0boobboooboooboooo.

0 3.29. 000000000000, 000000000O00DOO0OODOOO.

goo,0jgdbbooboooboobboob,boobboobbooboon.

4 JUOOooogad

gooooboobo,0ooobo0obbooboboobbooob.boobboob,o0bboon
gooooboobooob,o0obogbbooboobboobo0o.oobo,obboobo
gobg,0bboob,boobbooboog.

41 0O0ODOOOO

0000000,0000000000000 C*-00000000000000,00000
O0000000000.000 MOOOO,C®*M):={f:M—-R:C*}000.

00 4.1. C>*°-000 ¢:(-e,e) =M O0DO0O0O,000 MOO OO OOO.O000000,0
000000 ¢0)0¢=000 00000 0OOO0O:

(0) : C=(M) = R: f o L (f 0)(0).

000000 ¢0)eRP000000,000000000000000000000000.
ooobooboo,0boob0bo0bbo0obboooboooboobooo.

042.0peMOO0ODOO0D000 (Ue=(21,...,2,))0000,00 p000000000:

(foe ") (p(p)

0 oo ) 0
(8561')]0:0 (M)—>Rf|—>8x

%
0O000D0000000000000.
00 4.3. T,M :={&0) |¢: 00,¢(0)=p}0 MO pOOD0 000 OOD.

00 C*(M)—-ROODOO,RO0000000D0O0O0OOOO. DOOOOOO,0000
ooooobooooooo.

10



00 4.4. 0 peMOOOODOOOO (U,¢=(x1,...,2,)) 0000,00 T,M 000000

(an), (),

00 MOR*O0000O0000O0O0O0CO,7T,M0O0R*O00000O0000O0000O0COO:

0
ﬂMaXﬁ«mJ — (a1,...,an) € R™.
i vp
00 4.5. 00000 C>*-000 F:M—-NOpeMOD OO (dF),0000000:
) d
(dF)pITpMHTF(p)Nlc(O)I—)&(FOC)(O).

00 (dF), 0,00 ¢00000000000,0000000000000000.0000
0000 ¢:D—-R3000 (dy),:R2—-R30,0000000

(d@)p:TpD—’Tw(p)R?)
0, 0dddddooooooooo.

00 4.6. T,M ={£:C*(M) —=R:00 [&(fg) =E&(f)g(p) + f(p)E(g) (Vf,g € C=(M))}.
C~(M)O0D00O0O00 (000000000)0000000000. 00 &(fg)000000
0,0000000 (000 Leibnizrule) J00. 000000000000, 00000000
ooooooooo.

42 OO0O00OOOOOOO

goooobogooboobboo. gpbboobobooobooooboooboobo.

00 4.7. 000 MOOOO,0000000 g0 ODOOOOO ODOO:0 peMOOOO,
gp :TL,M xT,M —ROOO.

goooobogoog. ogoobog,bbgogobod

g: M — [] 8*(1;M)
peM

ooboboooob.boooob 7;M O T,M 00000000, ][0 disjoint union 0000
0.0000000000000,00 ¢g0 C*-000000000D0000COO.

0 4.8. R"0000,0000000 ¢gO00O000O0OO:
0 0
w2 (5r), En (o)) = Ee

11



OO0 R"O00000000O0C000O0.0bo0ooo00obooUoboooooooDo.
00 4.9. 00000000 ¢:D—-R}0000,000000 10 DOOOOOOO.

000000 I = Edu?+2Fdudv+ Gdv? 0,000000L,:R?xR? -RO0OO0O0O
0.000L:T,DxT,D—-RO0 T,D=R?000000000000000000.

000,000 MOooooO0O (U,¢ = (21,...,%,)) 0000,000000 ¢0,0000
z;:U—-ROOO dz; 0000

9= gidudz,

i?j

0000000000000.000 g;:U—RO C®-000000.
0 4.10. M :={(x,y) eR? |y >0} 0000,¢9=(1/y*)(d2*> +dy*) 0 M DOODOOODO.

000000000000 (M,g) D 0000 O00,RH200000.

43 DOO0O0OO

00 ¢:D—>R30000,0000000 n:D—R30000000000000. 000
000000000,n0,peDOOO0 n,eT,»R200000000,000000000
0.0000000000000000.

(p

00 411 M ODOOO00,TM =[], T,M000. 00 X:M—-TM 0O 00000 O
0000,00000000: Vpe M, X, € T,M.

000 MOOODOOOOOOOOOD ¥(M)OODOO. 00 X¥M)0O0O,0000000000
O00000.0000000,00000 XO feC>*M)D00DO0O fXODOODODOOD
O.000000,%M)0 C*(M)-DO00O0O0.

00,000 MOODOOOO,0000 (Uye=(x1,...,2,)) 0000000000, OO0
O,MO0000000 XeX(M)OUO X|y:U—-TUOUDOODOOOOOODO.

0 4.12. 00O fy,...,f,€C®U)0000,00 UDOO0OOOOOOOO:

0 0
Zfi@iUﬁTUWHZfi(p) (8331-)17'

00000000 XO,00000000,000000000D0000.000O000DOO
ooo f,....f, 0 C*-0000000,X 0 C*-000000000000.0000,00
000000 C*-000000000000.0000,00000A0:

00 4.13. O0Oo0ooOoooovouvoogo,

X(U) = {3 fip | fi € CXW))

i

12



00 4.14. 00000 []: ¥U) x %(U) - X(U) 0000000 bracket 0 00000, O
0O00O000:

0 0, L0 0, 0fi 0
[fZ &xz ’ fj (%cj] N fl 82?1 (%cj fJ (%cj 8JZZ

O000000,000000 bracket OODOOOOOO.

00 4.15. 000000 bracket 0000000 DOOO0O:
(1) [X,Y] = -[¥, X],
(2) [Xv [YaZ]+[Yv [Z7XH+[27 [X7Y]] =0,
(3) [X, fY] = (XY + X, Y] (VfeC=()).

0000000000 bracket 00000000000 DOODOO,0000000000000
O0. 00 bracket 000000000000 ODOODOOO,00000000D000O0O00O0O, O
OO00ooO0oOoOdooO0.0oooooo,00 415000000000,

44 DO0OOO0OODOOO

goobogobooobobooo. gobbooo, bbb nOo0DbOOO0OOLODbDOOn
00000000, 0000oo0. o0000oooDoooOo,000000 “o0”o000000
O00.0000000000000O0O0O0OD ()yOooo.

00 4.16. 0000000 (M,(,))0000,0000000 V:XM)x X(M) — X(M) :
(X,Y)—~VxY O 0O0OO00 000 Levi-Civita 00 000:

2AVxY, Z)=XY,Z)+Y(Z,X) - Z(X,)Y)+ (X, Y], Z2) + ([Z,X],Y) + (X, [Z,Y]).

00000 Koszul 00 000. 000 (V,2) € C®(M) 000 (M3 p— (Y, Z,), €R),
00 X(v,Z)0 X 00D0000000000000000.

00 4.17. 0000000 R: X(M) x X(M) x X(M) — X(M) : (X,Y,Z) — R(X,Y)Z O,
0000000 (M,g) 0 0000000000 000:

R(X,Y)Z :=Vixy)Z —VxVyZ + VyVxZ.

000 R(X,Y,Z)0OOOO R(X,Y)Z0O0OOOO,0000000000. 0000000
gbo,b00b0boobooobooboobooon:

R(X,Y)=Vixy - [Vx,Vy] =Vxy] - VxVy + VyVx.

00 4.18. (M,g) 00000000, 0 T,M02000000000.0000 ¢0 OO0
O (sectional curvature) K, 0000000: K, = (R(X,Y)X,Y),, 000 X,Y € X(M)
0,{X,,Y,}0 ¢00000000000DOOOO.

13



gooodobO,00b00ofobOo,0o00b00oo0bOob0oU0b0. boogbgoobooboobD X,Y O
gbogobogboggb,bogb.

0 4.19. 0000 RH?000000,00000000 —-1000.

gobooboooobooooon:

0

0000,000 peRH20000 {X,,Y,}0 T,(RH?) 0000000000 (00,0000
0000). 00000000000,

[(X,Y]=-X, VxX=Y, VyX=VyY =0
00000000,0000000000000000000.

0 4.20. D:=R x (—7/2,7/2) 00, (,) = a®cos®(v)du®* + a*dv®> 000D. 0000,0000
000 (M,(,))000000,00000000 1/e>000.

D00000000,00 ¢e>0000 ¢o:D—-R}000000000000O0. 0000,
0000000000, 0000000000. 00000,00 ¢:D—-R30000000,
ooooooo (b,)DOOODOOO0OOOD. 00D0DO0O0ODO0O0DO, 00000000 DOO.

45 O00O0O0OO0O bracket OO OO

O00,0000000000000 bracket 0OO0O0OO. O000O,000 MOOOOOO
00 bracket 000000. 00000, 000000000000000C0OCO0O0O00O0O0OO0O.

00 4.21. X(M)[I,DDD MOOOODOOOOOOODOOO.oooo,0o0o0000:
X(M)={X:C*M)—C*M):00 | X(fg) =X(fg+ fX(g) (Vf,g € C*(M))}.
gogd,ddooooogd (DD 4.6)DDDDDDD.

00 4.22. X,Y € ¥(M)0000,0000000 [X,Y]0OODOO0O00O bracket O 000:

(X, Y]: C®(M) — C(M) : f = X(Y ) = Y(X[).
00O bracket O [X,Y]DDDDDDDDDDDDDDDDD. O00,0000000 bracket
doodoogobooooooooo, oo dooooooooooon.

46 Levi-CivitaDOODOOO

0000 Levi-CivitaOO VOOOOOOOOOO. 00,00000000000 Levi-Civita
ooooobooobooooo.
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00 4.23. Levi-Civita 00 V : X(M) x X(M) — X(M) 000000000, 00,0000
000000000 Levi-Civita 00O DO :
(i) VixY = fVxY,
(i) Vx(fY) = (X/)Y + fVxY,
(iii) VxY —VyX = [X,Y],
) XY, Z)=(VxY,Z)+(Y,VxZ).

(iv

Levi-Civita 0000000000000, 000000.00000,00 (i), (iv)Do0O0O
gooboooogd.

47 ODOOOO
000oo00ooo0dO0 ROOODDOO,0000 K, O e OOOOOODOOOOOOO.

00 4.24. 0000000000 ROOOOOO:
(1) R(X,Y) = —-R(Y, X),
(2) (R(X,Y)Z,W) = —(R(X,Y)W, Z),
(3) FR(X,Y)Z = R(fX,Y)Z = R(X,fY)Z = R(X,Y)(fZ) (Vf € C=(M)).

() 000000, (2)0000,00 423 (iv)0000. (3)0000, bracket 000000

000 4.23 (i), (i) D000,

0 4.25. 0000000000 ROODOOOOOOD,0000,000000: 000000
X, =X, Y, =Y}, Z,=2,000000, (R(X,Y)Z), = (R(X',Y")Z"), 00DDD.

0 4.26. 0000 K, 0 o 000000,0000,000000: {X,,Y,},{X,Y,}000
cCcT,MO000000000000, (R(X,Y)X,Y),=(RX',Y)X',Y'),00000.

48 R*"0O0O0O

R"000000000000000000000 00000000000.000,R*000
0 (z1,...,2,) 000000,000000000000 (,)=da?+---+de2 0000000
oooo.

00 4.27. 000 (R*,(,)) 0 Levi-Civita 00 VOODODOOO:

L0 0
Vit Vige) = hige a0,

R*O0000 7T,R*"0,000 R*O000000O000O0O0.R*O0000000,

BZfigii<—>f—(f1,...,fn):R”—>R”
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0000 R*"O00 R*O00 C*-0000000000. 000000000000, Levi-Civita
gboooogbogobogon.

00 4.28. 00000000,000000: VX,Y € X(R?), (VxY), = (dY),(X,).
Levi-Civita 000 00000000,0000000000 ROOOODDOOOODO.
00 4.29. 000 (R*,(,))0000,000000: VX,Y,Z € X(R"), R(X,Y)Z =0.

oooooooooo ogoog.

49 0O0O0OO0ODOOOOODOO

00 ¢:D—R30000,00000000,0000000 (D,1)00000000000O
0000. 00000000000 (00000000000 1)00000000,000000
000000000000000000. 000,

o DO ¢D)0D00000,
o o(D)00D0D0000000D0D0000 RRODDO0000O0O0O0D0
0Ooo0o0000O0O0O0. o000,

- R R ,
Pu = ('ruuyuazu) = xu% +yu87y + Zu% S x(R )

oo0d,ddooooogad nE%(R3)D,DDDDDDDDDDDD:
VpEgO(D):D, <anTp@(D)>:O7 |np|:1

00 4.30. VxY :=(VxY)T 000000 VO (D,I) 0 Levi-Civita 00000, 000,V
0 R*00D00000000D0 Levi-CivitaO0O, 00000 TO TD-00000.

ooooooo,00 vooo 423 00000000000000000. 000,0000
goboobooooo:

VxY = (VxY)' =VxY — (VxY,n)n.

00 4.31. 00000 [IO0O0OO0OO0OO0OO0 AOOOO,000000:
(1) VxY = VxY +1[(X,Y)n (Gauss 000),
(2) Vxn=—A(X) (Weingarten 00 0).

00000000,0000000000000 ROOODOOOOOOOOO.
00 4.32. (R(X,Y)Z,W) =11(X, Z)II(Y,W) — II(Y, Z)II(X,W) (VX,Y,Z,W € X(D)).

000 Gauss 00O0O0O00. 00O0O0,R* 00000000 0000000000, OO0
gogoooooooboboboo,bbbbbod0ooooooobobobobboooooogooon
ono.
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00 4.33 (Gauss 000000). 00 ¢:D—R¥0000000,0000000 (D,I)0
000000000.00000,0000000000000000000.

O000000o0o0o0o0o0U0o0oDoooo, 00000000000, 0000 Aoogoo
000000000000 (A0DDODOUO0OOO). 000 det(A) 00000000 OOOO
O00000,00 GausssOOOOOOOOOOOOO.

4.10 Rica OO

0o0000o0oo0o0o0oDooO,0000D00o0000o0o000D. 0000000 Ricci DOO
goog.

00 4.34. 0000000 ric: X(M) x X(M) — C*(M) 0 Ricci 00 O000:
rie(X,Y), = Y (R(X, )Y, Ei)p,
000000 E; e X(M) O, {(E1)p,.--,(En),} 0 T,M 000000000000.

0000000000000 00000000000,0000000000. RicciOOO, O
gbooooboooobooboboooboo.

00 4.35. 0000000 (M,(,)) 0 Einstein 00000, ric0 (,)000000000.

gobo,b0booobbboooobooobobbooobbooobobooooobbooon
gbobooobbodobbog,gobbooob,bbooo. ogg,gbboobooboogbn
goobooooobobboooob,0obbboooobbboooobDbbobooooboobo. o
00000,000000000 (00D00O0O0)D0D0O0O0O0ODO0ODOOO, Einstein 00000
goo,00obooboooboooobo.

411 DOO: D000

0000 RH?2000000000000,

0 0
X:y%, Y = a—y
0000000000 00. 0000, bracket 00 [X,Y]=-X00O0OOOOODOOOOOO,
ooododoooooooooobo. ooooooooo,
o RH20000 (0000D0O00O0DO0)000,
oJO0OOOOODO “COO”DOOO,
00000000. 0000 (D0O00D0O0000O0)0O0O0DD0OO0O0ODO00O,0000000
g, 0gdoboodoobbouoooobbooooobb oo, boooob,o0bboooo

g, 0bogbooobogboogof.
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